Name:
lixiaoming
Decimal ASCII: 
108, 105, 120, 105, 97, 111, 109, 105, 110, 103

108+105+120+105+97+111+109+105+110+103=1073
Number of questions in chapter 9:
23

1073 mod 23 =15

15+1=16

Question 16:

Use the fast exponentiation algorithm of figure 9.7 to determine 5596 mod 1234. Show the steps involved in the computation.
Answer:
c ( 0;  d ( 1 ;

   for i ( k down to 0

         do  c ( 2*c ;

              d  ( (d*d) mod n ;

              if bi = 1

                 then   c ( c + 1 ;

                          d ( (d*a) mod n;
     return d ;
Result of the Fast Modular Exponentiation Algorithm for ab mod n, where a = 5, b = 596= 1001010100, n = 1234
	i
	9
	8
	7
	6
	5
	4
	3
	2
	1
	0

	bi
	1
	0
	0
	1
	0
	1
	0
	1
	0
	0

	c
	1
	2
	4
	5
	11
	23
	46
	93
	186
	372

	d
	5
	25
	625
	937
	595
	569
	453
	591
	59
	1013


Hence 5596 mod 1234=1013
